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FRI5 = o] BRSBTS AABC I, T N F== 3= £ Y A
2:3:4 =T P BLZ 0 AABC P EJ R Futr,\

=V2:43:2: (V2 +43+2) = ABC =2 ++/3 +2)?

2. [MYEG A={a,,a,,. .Gy, }, A FUFIAYETRT 15
1 . Cepooles ,
Togo =@(51 + 8, ot Se00) =10%, A'={1, a,,a,,...a90 }, A PUFIFUETE
é’Tvlooo lOOO(S "‘S +.. +S1000)PJ 1 =4a,
S,=a,+a,,..See=a, +a, +..4+agy.
S,=1,S,=1+a,, ...S000=1+a, + ..t doog> S1o00= 1+ @ + .o+ Ay
= T = 000 (103+S +8, +...Sg0) = (1o3+999><10) 9991.
3. 1000 |[N° - N?=2°x5 [N*(N-1), [ij (N>,N-1)=1
(1)2° [N*2 5 [N-1=4|N &
125 [N-1= N =4x=125y+1= N =376 or 876.
(22 [N-155 [N*=8|N-1"
25 [N = N =25x+8y+1= N =225 or 425 or 625 or 825. x,ye N
(3) 2°x5° [N* =100 [N = N =100x. xe N =N=100 or 200 or 300 or
400 or 500 or700 or 800 or 900.
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